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1 R 0.748 45516. 426 120684. 664 5.1008
2 FA 2 0. 840 233573. 781 1926721. 750 94,1747
3 ZE AR 2.732 1463. 250 12101. 800 0. 4890
4 6.332 433.930 13324. 700 0. 0000
5 T 10. 965 218. 830 8674. 300 0. 2355
6 14. 032 23.767 745. 900 0. 0000
[ 281229. 983 2082253. 114 100. 000
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BIESHITR
Hiyj. 2025.4.1 B, 2025040101
Ao BT HOHEE (%) Hor 2w An&E (%)
s5|He 0.000 22T | Trans-2-C,Hy 0.000
i 42| CH, 94.175 JFi2 T 43| Cis-2-C,Hg 0.000
2,4%|CoH, 0.000 13T —#|1,3-C4H, 0.000
Z.4:|C.Hs 0.000 5y x| i-CsHyp 0.000
7 4z|CsHs 0.236 E 1% 4z |n-CsHy, 0.000
74| CsHe 0.000 — & Ak A CO 0.000
5T 4z[1-C4Hyo 0.000 — &4k CO2 0.489
1E T fz|n-C4Hiyo 0.000 5|02 0.000
i 5 T 4%1-CaHg 0.000 w0 N2 5.101
Ait{100.000
#BR4%E (0°C, 101.kPa)
B = 37.848 |MJ/m’ PRpES=(37.18
(&= 34.032 |MJ/m’ MR =0.5831
B P = 49.566 [MJ/m’ = 0.754 |kg/m’
(P2 e B = 44.568 [MJ/m’ FHSFRCO,= 11.09
520Y lEBARRE 4 A $i= RAFBIERY=
##RFE (15C, 101.kPa)
BavE=  35.8060 [MJ/m? PR %=37.19
il 32.2414 My’ a8 BE=]0.5829
B B4 g M= 46.89 [MJ/m’ W= 0.754 |kg/m’
(P A P %= 42.22 |MJ/m’ FHESFRCO,= 11.09
520Y LR RAE 4 B $i= RAFIBIERE=
0°C, 101.kPa 15°C, 101.kPa
i = 159 |kcal/m’ EaE 150 |kealm’
fEH = 143 |kcal/m’® i 135 |keal/m’
B P4 S 8= 208 [kcal/m’ EREssy 197 kcal/m’
TS 187 [keal/m’ ety 177 |kealm’
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1 2R 0. 748 44834. 859 118795. 938 5.1249
2 FH g2 0. 840 230133. 484 1882588. 250 93. 9225
3 1. 423 917.423 5005. 961 0. 0000
4 ZEALR 2.748 2374. 750 19088. 600 0.7873
5 6. 207 891. 282 33102. 602 0. 0000
6 Ak 11.082 153. 200 5963. 700 0.1653
7 13. 865 18.132 1129. 000 0. 0000
Mt 279323. 129 2065674. 050 100. 000
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BIEIHITR
Hiyj, 2025.4.1 o= 2025040102
Ha A HorEE (%) Ha AR HAHEE (%)
H5|H 0.000 J2 27T #5| Trans-2-C,Hy 0.000
B 42| CHy 93.923 J2 T 4| Cis-2-C,Hy 0.000
2,47 CoH, 0.000 13T = %[ 1,3-CHq 0.000
Z.4|C2Hg 0.000 = i 4| 1-CsHyp 0.000
7 12| CsHs 0.165 1F 1% kx| n-CsH, 0.000
7 4| CsHe 0.000 — &4k CO 0.000
7 kz{i-CaHyo 0.000 — &4k CO; 0.787
1E T #z|n-CaHyg 0.000 5|02 0.000
1F 5 T #|1-CaHs 0.000 i\ 5.125
#+(100.000
#FR% (0°C, 101.kPa)
B = 37.676 |MJ/m’ #REEH=36.96
(R = 33.876 |MJ/m’ HX B BE={0.5854
B R 3= 49.243 |MJ/m’ 8 =] 0.757 |kg/m’
(R A P = 44.276 [MJ/m’ FH<FHCOo,= 11.05
520YHBHRAE 4 E $= RSAFBIE R =
#BRAE (15C, 101.kPa)
B HE= 35.6436 |MJ/m’ Mids={36.96
& Hfli= 32.0938 [MJ/m’ X B BE=[0.5852
BB e e B 46.59 [MJ/m’ = 0.757 |kg/m’
B HH= 41.95 |MJ/m’ FHSHHCOo,= 11.05
520Y B RAE R A $= RATBIER =
0°C, 101.kPa 15°C, 101kPa
B R 158 |kcal/m’ BE 150 kcal/m’
I = 142 |kcal/m’ fE#dE| 135 |keal/m’
BREEE 207 |kecal/m’ BREEEK 196 kcal/m’
(B 2 1 B = 186 |kcal/m’ TR 2 1 3 176 kcal/m®
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1 AR 0.748 28869. 457 72749. 672 3.0886
2 4 0. 832 236089. 891 1953351. 250 95. 9059
3 1.423 1003. 929 5715. 726 0. 0000
4 ZE AR 2.740 2560. 556 20905. 100 0. 8485
5 6.198 940. 378 40143. 602 0. 0000
6 A ke 11.073 176. 710 5756. 500 0.1570
7 12.873 35.091 1246. 781 0. 0000
8 13. 540 42.545 1787. 563 0.0000
9 14. 473 33.182 1044. 491 0.0000
B 269751. 738 2102700. 685 100. 000
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Hiyj. 2025.4.1 B, 2025040103
Ao AR HHE5E (%) Hor 2R HAEE (%)
5 He 0.000 %27 4| Trans-2-C,Hy 0.000
F 42| CH, 95.906 JR2 T | Cis-2-CHy 0.000
Z.47%|C2Ha 0.000 1,37 —#(1,3-CsHs 0.000
Z.4z|C.Hs 0.000 2 g x| i-CsHy, 0.000
7 1z| CsHs 0.157 1E % kz|n-CsHy, 0.000
7 47| CsHs 0.000 — S Ak CO 0.000
&7 4z|1-C4Hyo 0.000 — &4k CO. 0.849
E T 4{n-CaHy 0.000 %5/0 0.000
i 5 T 4 1-CoH 0.000 N 3.089
#3+100.000
#4543 (0°C, 101.kPa)
= 38.460 [MJ/m’ HRBESH=(37.99
(Rl = 34.580 [MJ/m’ MR BE=(0.5775
TRV A %= 50.610 |MJ/m’ W= 0.747 |kg/m’
(GG A 4 P = 45.504 [MJ/m’ FHSFRCO,= 11.28
520Y EBARRE 4 A $i= A BIE RS-
#BRSE (15C, 101. kPa)
R 36.3850 [MJ/m’ PRpE%=37.99
I H = 32.7612 |MJ/m’ xR EE=0.5773
R = 47.88 |MJ/m’ A= 0.747 [kg/m’
(R A 1 B 43.11 |MJ/m’ FHSHMCO,= 11.28
520Y B RAE 4 E $= RAFBIERH=
0°C, 101.kPa 15°C, 101.kPa
i E— 162 |kcal/m’ B P 153 kcal/m’
(& E= 145 |kcal/m’ (E3E 138 kcal/m’
R 1 3= 213 [keal/m’ midEeag| 201 |kcalm’
B 48 = 191 [keal/m’ fEEeas| 181 [kealw’
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1 B 0.748 32457. 094 88601. 555 3. 8094
2 FA &% 0.832 222104. 484 1772844. 625 88. 1489
3 ZE AR 2.598 15271. 739 160662. 500 6. 6037
4 6.173 862.217 32680. 600 0.0000
5 Wk 10. 548 1331. 759 52061. 000 1.4379
2t 272027. 294 2106850. 279 100. 000
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Hiy, 2025.4.1 = 2025040104
H B AR (%) Hor 2R AR ER (%)
s5|He 0.000 J22 T | Trans-2-C,Hy 0.000
i 42| CH, 88.149 JFi2 T 4| Cis-2-C.Hy 0.000
z2.4%|CoHy 0.000 1,37 =5/ 1,3-C4He 0.000
Z.4|CoHs 0.000 = gz |1-CsHyp 0.000
itz CsHs 1.438 i % 4z n-CsHiz 0.000
74| CsHs 0.000 — 4| CO 0.000
8T fz|i-CiHyo 0.000 — S48/ CO2 6.604
1E T 4| n-CaHio 0.000 55|02 0.000
5 T #5|-CaHs 0.000 w1 Na 3.809
#3+100.000
4% (0°C, 101.kPa)
Al 36.660 [MJ/m® Mie$h=(33.89
I = 32.988 [MJ/m’ X BE={0.6493
B P B = 45.495 |MJ/m’ B = 0.840 [kg/m’
(G B 4 P B 40.938 |MJ/m’ FHSFRCO,= 10.55
520Y LR RVE K H= RABIERE=
#BAE (15C, 101. kPa)
Rl = 34.6795 |MJ/m’ Mpdh={33.90
& Hfli= 31.2497 |MJ/m’ HXd 5 B = 0.6490
AV A %= 43.04 [MJ/m’ B 0.839 |kg/m’
G 4 e B 38.78 [MJ/m’ FRESFRCO,= 10.55
520Y BERVE S A = AT IER Y=
0°C, 101.kPa 15°C, 101.kPa
= 154 |kcal/m’ Rl 146 kcal/m’
R = 139 |kcal/m’ {ERE 131 keal/m’
R 4 1 3= 191 [keal/m’ mipvEsgey| 181 |kealm’
IEHRE A 3= 172 |keal/m’ fEREEEs| 163 |kealm’
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AITEERE
e 5 e 4 O B I 1] UEE 7 U T AR HE
1 AR 0.748 14190. 505 36507. 395 1.5317
2 b5t 0.832 231042. 938 1881108. 625 91.2739
3 ZEARR 2.590 14205. 505 143785. 594 5.7673
4 6. 148 712.193 26274. 500 0. 0000
5 A% 10. 390 1382.129 52943. 301 1.4270
M 261533. 269 2140619. 414 100. 000
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Hi, 2025.4.2 g, 2025040201
Ao B HosE (%) Hor TR HosE (%)
g5 |H 0.000 22T ¥ Trans-2-C,Hyg 0.000
Fe 42| CH, 91.274 JFi2 T 3| Cis-2-CHg 0.000
Z.4%|C2Hay 0.000 1,37 =%/ 1,3-C4He 0.000
7. C:Hq 0.000 2 42| i-CsH 0.000
7 42| CsHs 1.427 1% k| n-CsHyz 0.000
| C:H, 0.000 — s k| O 0.000
5T 4z|i-CiHyo 0.000 — S 40| CO2 5.767
T 4{n-CaHi 0.000 %5|0s 0.000
i 5T #[1-CaHs 0.000 wx[Na 1.532
#i+100.000
#1413 (0°C, 101.kPa)
A= 37.897 [MJ/m® PRiEsy={35.53
(= 34.100 |MJ/m’ X RE=0.6317
B A B = 47.683 [MJ/m’ B 0.817 |kg/m’
(R e = 42.905 |MJ/m’ THRIFRCO,= 10.91
520y EBARRE A E = RAFBIER Y=
#B%E (15C, 101.kPa)
B HE= 35.8497 [MJ/m’ PRpEs=(35.54
(R = 32.3031 [MJ/m’ M B EE={0.6314
B AVE A e B= 45.11 |MJ/m’ R 0.816 |kg/m’
i 6 1 = 40.64 [MJ/m’ FHESHFKCO,= 10.91
520y EBARFE 4 E J= RAFTBIER Y=
0°C, 101.kPa 15°C, 101.kPa
R 159 |kcal/m’ B 151 kcal/m’
I = 143 |kcal/m’ fEfvE| 136 [keal/m’
BAE 200 |kcal/m’ EaEsay 189 kcal/m’
e 4 1 = 180 |keal/m’ fEpEEaY 1 |kealm’
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ST RE
-5 [z 324 PR B st ] [ 3= g TH] AR 58
1 AR 0.748 10639. 000 23822. 465 0.9908
2 2P 0. 832 244911, 938 2018584. 000 97.0930
3 1.373 3375. 083 19162. 641 0. 0000
4 ZE AR 2.548 5235. 104 41152. 699 1.6363
5 5.732 788. 957 31499. 500 0. 0000
6 Akt 10. 032 342. 455 10474. 700 0.2799
7 13. 348 12. 625 403. 500 0. 0000
21t 265305. 161 2145099. 505 100. 000
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oEE BIESITIR
Hiy, 2025.4.2 G, 2025040202
g HAEE (%) Hy B HrEE (%)
H5[He 0.000 %27 45| Trans-2-C,Hy 0.000
B 4z CH, 97.093 JFi2 T 4| Cis-2-CHyg 0.000
24| CH, 0.000 13T —#%|1,3-C.Hq 0.000
Z.4z|C2Hs 0.000 5 | i-CsHyp 0.000
itz CsHs 0.280 TE &4z n-CsHy, 0.000
7i47|CsHe 0.000 — &4k CO 0.000
5T 4z|1-CoHyo 0.000 — 45| CO, 1.636
1E T fz|n-CaHyo 0.000 5/0: 0.000
5T #[-CaHs 0.000 E i\ 0.991
#3(100.000
#H% (0°C, 101.kPa)
= 39.058 (MJ/m’ JRIES=38.54
&= 35.121 [MJ/m’ MR85 B =0.5777
BB e B 51.386 |MJ/m’ W= 0.747 |kg/m’
{EHVE 4 = 46.206 |MJ/m’ FHSFHCO,= 11.44
S50YHBEAEEA Y= RAFBIE R Y=
Ry (15°C, 101.kPa)
B H = 36.9511 |MJ/m’ PRiEd={38.55
(B = 33.2731 [MJ/m’ FaxaE BE={0.5776
BB %= 48.61 [MJ/m’ = 0.747 |kg/m’
g HE 45 B 3= 43.77 [MJ/m’ FHESFHCO,= 11.44
520V LB EAVE R B H= AAFIBIE RS-
0°C, 101kPa 15°C, 101.kPa
Bl = 164 |kcal/m’ P 155 kcal/m’
fEH = 148 [keal/m’ R 140 |keal/m’
A1 1 3= 216 [keal/m’ B 204 |kealm’
(e B 1 B = 194 [kcal/m® TE BB AL 5 3 184 kcal/m’
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1 T & 2024/4/1 10:36 48. 37 Ak 1EH
2 AL e 2024/4/1 16:20 41.31 i 1E%
3 IRIRE 2024/4/2 9:30 49.71 Ak 1EH
4 FKRIEE RS 2024/4/2 09:50 46. 26 G IEH
5 Gig SV 2024/4/2 10:10 42. 89 Exid E#
6 FHiAE bl 2024/4/2 09:00 40. 32 G IEH

20254F
7 Ak 2025/4/2 16:00 34.6 S EF
8 B 2025/4/2 16:22 33.4 SA EF
9 wAg s 2025/4/2 17:11 39.6 St EF
10 FHEAL 2025/4/2 16:54 39. 4 SA EF
11 & 2025/4/2 15:22 28.8 St EF
12 TR 2025/4/2 11:40 25.5 SA EF
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